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COMMERCE
(Honours Core/Regular)
Paper : COM-HC-1016/COM-RC-1016
( Financial Accounting)
Full Marks : 70
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer any ten questions as directed :
1x10=10

o SwpiR ezt weht e Tl i 3
(a) Closing stock is valued at
AR e AT EIT Fl A

(i) cost price

T O
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(i) cost price or market price

- whichever is higher

@ T AR TGS A TS ol eI

(i) cost price or market price

whichever is lower
@ T AR TSR T Aers D
(iv) market price
EEIERGEIS
(Select appropriate answer)
(TS CEeo! Mo Clersd)
(b) As per Dual Aspect Concept :
AR e R BRIRIAS
(i) Assets = Liabilities — Capital
711G = (7l —
(ii) Assets= Capital - Liabilities
TG = JeTge — (Tl
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i) Assets = Liabilities + Capital
A& = (Tl + EHA
(iv) Capital = Assets + Liabilities
e = ARG + Gl
(Select appropriate answer)

(g CeIeo! > Gl7ed)

(¢ Which of the following is not a
constituent of Central Processing Unit ?

we7® fial (PMeH! Central Processing Unit

olft 732
(i) Arithmetical Logical Unit
GRAGIBEE FECE LeMo
(i) Memory Unit
R EFG
(i) Input Unit
2l IR
(iv) Control Unit
TGl ROF0
(Select appropriate answer)
(YT TeH! o Tlered)
Contd.
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(d) According to going concern concept, a

business is viewed as having

pfore efovima «IRel SEE, @ JEiRE &

Al e =1 2@ e
(i) a limited life
G SIS T
(ii) a definite life
g ffee Gike
(iii) a very long life
G =S T G
(iv) an indefinite life
G RO G
(Select appropriate answer)
(Fe37E Gecol b Clersd)

(e) Discount allowed to debtors is not
shown in the Branch Account.
(State whether the statement is True or

False)

oS T @RiR R Roisre (ryedt 7 |
(Gfee! &% 7 1% Gy 7)
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(9)

(h)

Where a buyer under instalment system
makes default in making payment of
instalment, the seller has a right to
repossess the goods sold.

(State whether the statement is True or
False)

% @1 ~iafos Ruroie (@l %ie) 1 SRl
et Ruereiz «i4 9312 ERR i) ATS 9
AN (Cf&h) &% 7 9% G 391)

Branch stock account is always
prepared at cost price.

(State whether the statement is True or
False)

A1 TG Sy ol TR T O AT F
ol (Cf&m! @7 @ 997 Gy ¥91)

Accounting is the language of

(Fill in the blank with appropriate word/

- words)

fploed T F ol
(G73& N3F 3T 912 959 79)
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(%)

Under stock and debtors system, Profit/
Loss of the branch is ascertained by
opening a -
(Fill in the blank with appropriate word/

(b)

What is Prudence or Conservatism

concept ?

sefel q FEPETe! Al [Fe

words)
<% (AT oS ¥4I 311G A AT (c) Mention any two distinctions between
1 e = ffa 0 = ‘gross profit’ and ‘net profit’.
(Coye = i 2 937 F9) quwmwmwmﬁr

ey ST
() The first IFRS was published in June Epeiisal

(d) Mention any two features of Tally 9.

(Fill in the blank with appropriate word/

words) Tally 99 Ricmicel K_Bf TaREy S |
2123 [FRS Beld G A9 o 4l (e) Explain any two features of Accounting
23 | (Goge T A a2 939 7)) Principles.

fplofeae ea Rz 751 e It

2. Answer the following questions very briefly :

2x5=10
- [ 20 3. Answer any four questions : 5x4=20
© by A 3 I
Rl Sifes ed el 8
(a) Mention two limitations of Accounting ; vl 43

i (@) Explain any five distinctions between

Principles. .
cash basis and accrual basis of

EOEGAEARIISEES 70! Wwﬁl accounting.
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(b)

()

(@)

o fSfe i Toiifere fofes sere a4t R
56! At JAN T |

What is Computerised Accounting
System ? What are the advantages of

using Computer in Accounting?
1+4=5

ST RS 2517 el et I e 2 fReiet
e TIRHEER T FRUER Fefet 1 |

Discuss four methods/approach of

measurement of Business Income.

e @ e g5 b1 <6l / Amfo
AL 9|

From the following information,

prepare a Trading A/c for the year
ended 31-3-2023 :

4 (Sem-1/CBCS) FAC HC/RC/G 8

5 SrERke SUPRRY 2[{l 31-3-2023 b
AR T [ =oied e 8

Rs. Rs.
Stock on 1.4.2022 25,000 | Sales 80,000
REEIRE Gz
Wages 5,000 | Sales return 500
Tgal R fes
Purchases 30,000 | Wages outstanding 100
@ G2lE TGS
Purchase return 450 | Carriage outward 1,000
T e 3! s |
Carriage inward 500 | Stock on 31.3.2023 | 7,000
T R W e g
Manufacturing expenses| 4,000

Teatl I

(e) One motor bike is purchased.on hire
purchase system. The term of payment

is' four

annual

instalments of

Rs. 16,920 at the end of each year.
The rate of interest charged is 5% p.a.

Accounting year closes on 31t March
each year. Calculate the amount of
interest and cash price.
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Dr. Trial Balance (Sge fEmsi9) Cr.
Qe FIT’/? BI2(Fe OS] &1 “mfow [l (2R | Particilar Amount (Rs.)| Particulars Amount (Rs.)
pi&aG! 16,920 TFICE 2 BIROI A+Riaa - 25000 | Sales 1,16,600
ﬁ ﬁ S W ﬁ?:” _q,a_] ?Tif% 5% w H‘E 211‘5]’ Opemng Stock y ﬁ@ﬂ 1Y,
9 2z ZpivE RGN 2o 359 31 W il il bt
SifRt2 W= 0 = | Purchases 80,000 |Outstanding Wages 1,000
oq SR S T e sl /Rl w4 i SRl
| Sales Rctum 2,000 CYCditorS 15r000
(ff Mention five distinctions between @l fre AT
manual accounting and computerised Carriage Inward 2,000 |Capital 35,000
accounting system. Tl ke
© giEd Ll
JCe R fRp17iwae o S0 fRpieeel Carriage Outward 1,000 |Purchases Returns| 1,000
Sers #isor il | 3 TR offied W 7 fee
f Wages 10,000 | Discount Received 1,000
4. Answer any three questions : 10x3=30 ) Rt R
et fofabr &% oeq Al ¢ Salaries 14,000
(a) From the following Trial Balance of A
Shri BK Das as on 31st March, 2023 Insurance L
and other information given below, il
prepare a Trading and Profit & Loss Prepaid Advertising 400
Account for the year ended 31st March, giifo A
jot23 and the Balance Sheet as on that Advertising (@) 2,000
ate.
i Debtors ((FITR) 20,000
ri B K Das-q &7 (34 <1 31 5, 2023 Cash (7) 2,000
I OF€ fiereig 9 Sl ©29 st 31 ey (T@A) | 10,000
35, 2023 ©IfFS TEsist IF00IE I &Y Rrw Machsta R 1 69,600 ‘ 1,69,600
ﬁﬂﬁ,ﬁi@ﬁw&ﬁﬁm@@@ﬁ?@@g@ = -
g qF9 9] |
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(b)

Adjustments :

MNAI T

(i)‘ Outstanding Salary Rs. 1,000
YATE 19g] Rs. 1,000

() Closing Stock Rs. 30,000
AR TGS Rs. 30,000

(iti) Prepaid Insurance Rs. 300

TSt i Rs. 300

On 1.1.2022, Ahuja & Co. purchased a
plant on hire purchase system. The
cash price of the plant was Rs. 25,000.
The payment was to be made Rs. 5,000
down and the balance by five
instalments of Rs. 4,000 per year with
interest at 5% p.a.

You are required to prepare necessary
ledger accounts in the books of
Ahuja & Co., assuming depreciation to
be written off at 5% annually on
straight line method.
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(c)

(d)
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Ahuja & Co.-9 1.1.2022 SIfSt3 ©Iot @3
afee ¢ Ty [RMARE | 358 T T 2w
25,000 Gl | 5f&s0® 5,000 591 ©leF T
ST et 291 9 SRR 2ifSamT 5% Hew
QITS 4,000 Ghics & fRpiest s i 279

Ahuja & Co.- 321 UG =bi% I |
SR FEICIRT ARG TR 5% 29O 41
Co ey

Explain in brief Accounting Standard 2.
Discuss the procedure of setting

- Accounting Standards in India.

3+7=10

fRBI7Iee FPTR-2 (AS-2) SICT I 1 |
OIS o117 M 2if$91 11 Crae 247 A5
S W4 |

Vishal Traders Ltd. of Tezpur sends
goods to its Kolkata branch at cost plus
25%. From the following particulars,
prepare the necessary Ledger Accounts
in the books of the Head Office under
Stock and Debtors system :
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(999 Vishal Traders Ltd. 9 ©iF o] \ (e) Explain how revenue is recognised as
' per AS-9.

XIS TR 89S 25% (Il SR I8 (o 5 :
TR TS fwwl, Reww o, g o | | AS—-0 < T AGH (FECE Hw 1 W I

WIS AFe® I3 FREET RS AT Sall
AT aFe 41 3 :i () Explain the rights of Hire purchaser
Eatbciioss Amount (Rs.) | and Hire vendor under Hire Purchase
Opening Stock at Branch at cost to Branch 30,000 System. 5+5=10
AR @ 0 MRS et Tgo A ol T T SIul (ol Ui el KuFo
Goods send to Branch at invoice price 1,50,000 : PEIEINEY 34|
e e it Awm A i ! IR o
Loss in transit at invoice price 15,000 \ r"
e e %0 (EAighing Afad 3
Pilferage at invoice price 8,000 }‘
R ge7o pfRa =ik 0,
Normal loss through wastage at invoice price 4,000 DRSS BT
R e Sobagie Tk @i |
Cash sales at Branch 2,40,000
4o 717 e
Expenses 60,000
I®
Closing Stock at Branch at Cost to Branch 45,000
47 @ JT0 KIS AR TGO 4
Recovered from Insurance company against 15,000
loss in transit
4190 @I Reite T @I # 2le
3000
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Total number of printed pages-8
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~ COMMERCE

(Honours Core)
Paper : COM-HC-1026
(Business Laws)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Sfull marks for the questions.

Answer either in English or in Assamese.

1. Choose the correct answer of the following :
(any ten) 1x10=10
e R A9l ow Tewe! AR Tfed ¢
(Rcwizan w2o14)

(@) A contract with minor is an example of
TR IS B (2R W ¢ SaiRd
(i) valid contract
[SERS

(i) void contract

e pfe
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(b)

(c)

(iti) voidable contract
JifSeTcay pie
(iv) illegal contract

w34 pf&

In which state of India, the Sale of
Goods Act, 1930 is not applied

SRE (@ ¥ TS AN [Pl =iz, 1930
o T T=A
(i) Assam
S
(i) Sikkim
fefet
(i) Jammu and Kashmir
& SIS IS
(iv) Goa, Daman, and Diu
calfat, o SR e
The Limited Liability Partnership Act
came into force on:

S (el SIS e (T OIS o1t FERe
[k
(i) 31st March, 2008

o3 T, 300
(i) 31st March, 2009
© b, K006
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(d)

(e)

(iii) 1st April, 2009
s @fele, Y00s
(iv) 31st July, 2009

03 TEIR, 2005

The Indian Partnership Act came into
force on: :

OISR SIS W2 (P O 2[R
= |
(i) 1lst October, 1932
S STIRE, S59OR
(i) 31st October, 1932
©5 TCIRF, S50
(iii) 1st November, 1932
S ACTET, S99
(iv) 1st December, 1932
> fomaR, 9]

The Right to Information Act, 2005
came into force on:

B SRR TR, 100¢ (I ORI 791 TR
“c-ch.__
() 12th March, 2005
53 TG, R00¢
(i) 12th July, 2005

5% TEIIR, 00¢
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(9)

()

(iii) 12th October, 2005,
3 SIS, 00¢
(iv) 12th November, 2005
53 WEES, Ro0¢
Not all agreements are contracts.
e IS B =R |
(i) Correct (w=)
(i) Incorrect (Sre@)
Offer is defined u/s 2 (a) of the Contact
Act, 1872.

SR i SN2, ST 2 (F) SFPIR RS

= R

(i) Correct (v%)

(i) Incorrect (STe%)

The Principal Debtor is the person who
gives a guarantee in a guarantee
contract. ;

wifie piers G fl fee X YegiRrel |
(i) Correct (v=)

(i) Incorrect (STem)

There are two parties in a bill of
exchange.

e o™ 7ot A A

(i) Correct (o7)

(ii) Incorrect (T3
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0)

The Chief Information Commissioner
under the Right to Information Act is
appointed by the President of India.

52 SRR S S Y O ALST ST
IEsifem fgfe e

(i) Correct (¥7)
(i) Incorrect (Tem)

2. Answer of the following questions : 2x5=10

AEtRe emERE Ted ol 8

(@)

(b)

(©)

(d)

(e)
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What is void agreement'é

e TS IIE @I 2

What is Contract of Indemnity ?
oo e T & 2

What is unpaid seller?

wema [l (P 2

Write any two differences between sale
and agreement to sell.

) s ! TR WSO Ricplca 761 AL
ferall |

State different types of negotiable
instrument.

wmmwﬁmﬁf‘wwwﬂl

50 Contd.



3.

Answer any four of the following questions :

5x4=20

Fefie oM@RT 2= R bifeoT Tes for g

(@)

(b)

()

(d)

(e)

Write the essentials of a valid
acceptance.

@Y TeT TR SRR B

Distinguish between Conditions and
Warranties.

IR ST DS (AT TR e Ay fopt |

Mention the penalties that can be
imposed on a Public Information Officer
for failing to provide information.
A AT O 9N 4199 FIRIRCE Ao w2y
R esige @@ TR [y =20

State the liabilities of partners under
the Limited Liability Partnership Act.

IS oFl TR W whe ST
AR TE 41 |

Explain the procedures of registration
of partnership firm.

:gﬂw@ oSV G PRETERR TN
l

Distinguish between bills of exchange
and promissory note.

R Rer o afowtfs ofq e e Bl |
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Answer any four of the following questions
in 600 words each : 10x4=40

WWWWWWWS
(2ifSTot voo ¥ fEes©)

(a) Wﬁat is quasi contract ? Describe the

rules relating to quasi contracts.
2+8=10

T4 % I QI 2 977 B T2 i
¢ <1

(b) Discuss'the rights and duties of bailor.
el SRR S FOII [T s
Q.

(c) What is Contract of Sales ? State the
essentials of a Contact of Sale.

2+8=10
R pie & 2 R e oo REprR
T 90
(d) (i) Distinguish between holder and
holder-in-due course. 5+5=10
geF O TARES 4T AEe ANLw
Gl

(i) Distinguish between bill of
exchange and cheque.

R o S (AR e A1 FRl
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. (e) Define partnership. Explain the
different types of partners. 2+8=10

SemIRgS FgEs! 571 | SeTivise Rifeq e
Ieft == |

(1 State the features of limited liability
partnership. Distinguish between
limited liability partnership and
company. 5+5=10

Hee ot ITMIEeE @RS @F S 749 |
e @ SIS S AN TS 21125

el |

(g9 What does Right to Information
mean ? State the process of obtaining
information under RTI. 2+8=10

ORI A BEoE s (6 N ks (o IRACRISAC  RRa S AR BIE
TEo 9 WFd F AR S T4 |

(h) Explain different forms of dissolution
of partnership firm.

SIS 2V G2 SRAIRAR RS e
SRS
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